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3apava A. lNyTun Ha gocke

Wwmst Bxoguoro daitna: paths.in
Wwmst BoIxonnoro daitia: paths.out
Orpanudenue 110 BpeMeHHU: 2 ceKyHbI

256 mebubaiiT

Paccemorpum GeckoHedHYIO KIETIATYIO JTOCKY.

OFpaHI/I‘{eHI/Ie II0 ITIaMATH:

Hazosém nymém u3 oaHOI KJIETKU B JIPYTYIO TOCJIEI0BATEIBHOCTD KJIETOK, B KOTOPO
KaxKJIble JIBE UJIYIIHE TTOAPsiT KJIETKU SABJIAIOTCSA COCETHUMU I10 cTopoHe. [mnHa myTtr —
9TO KOJIMYECTBO KJIETOK B HEM, HE CUNTAS HAYAJBbHYIO.

HazoBém myTh npocmoim, eci B HEM He BCTPEJAeTCs JIBYX OJIMHAKOBBIX KJIETOK.

3adukcupyeM KaKylo-TO KJIeTKy Ha gJocke. CKOJIBKO CYIIeCTBYET MPOCTBHIX ITyTei
3aJaHHOM JIJIMHBI, HAUNHAIOIINXCSA B 9TOH KJIeTKe?

dopmaT BxogHoro daina
B nepgoii cTpoke BxomHOTO (haiiia 3amano nemoe uncao n (1 < n < 10).

dopmaT BbIXOAHOrO haiina
B 1meproit crpoke BbIxOIHOTO daiijia BRIBEIUTE OJHO UUCJIO — KOJMIECTBO ITyTel
JJIMHBL N A3 3TOU KJIETKU.

Mpumepbl

paths.in paths.out

4
2 12

3apayva B. Cambiii gnnHHbIA NyTb

Wwmst Bxoguoro daitna: path.in
Mwmsa Beixonuoro daiira: path.out
Orpanudenue 110 BpeMeHHU: 4 cexyHJBI

256 mebubaiiT

B mamnOoM opmenTupoBanHOM rpade HaiiuTe caMblil JJIMHHBIA IyTh TAaKOH, 9TO
KaxKjiast BepuinHa rpada BcTpedaeTcs B HEM He 60jiee OJTHOTO pas3a.

OFpaHI/I‘{eHI/Ie II0 ITIaMATH:

dopmaT BxoaHoro daina

B mepBoit cTpoke BxomHOro daiiiia 3aJaHbl Uepe3 Mpodes JaBa IeIbIX Yucjia 1 U
m (1 <n <22 0< m < 1000). B creayromux m crpokax 3amanbl pébpa rpada
B dopmare u; v; — HOMEDA HAYAJIHHON M KOHEYHON BEPIIMH pebpa i, COOTBETCTBEHHO.
I'pad Moxker comepkaTh et/ U KpaTHBIE PEOpPA.

dopmaT BbIXOgHOro daiina

B mepBoit cTpoke BbIxogHOTO (haiina BeIBeaUTE JIUHY nCKOMOTo myTH [. Bo BTOpOit
cTpoke BoiBeguTe [ + 1 9ncsio depes npobesi — BepIuHbL My TH B mopsiake obxona. Eciu
ONTUMAJILHBIX OTBETOB HECKOJIBLKO, MOXKHO BBIBECTHU JIIOOON U3 HUX.

Mpumepbl

path.in path.out
33 2
12 123
23
31
46 2
12 124
21
23
24
32
4 2
53 1
32 32
22
15

3apaya C. String Decomposition

Nwmsa Bxomuaoro daitia: strdec.in
Nwmsa BeixomHOTO daitia: strdec.out
Orpanuvenue 1o BpeMeHH: 3 seconds

Orpanudenne IO TaAMATH: 256 megabytes

As you remember, Vasya works in RIGS. And now. .. Yes, he faced another problem
with strings. The building of RIGS is very big, and Vasya wants to send a string to his
friend Petr who works at the other end of the building. However, the sending equipment
is rather strange — it cannot deal with strings with lengths greater than k. So Vasya
has to divide his string into small blocks.

But there is another problem — the sending equipment asks one coin per string. Of
course, Vasya doesn’t want to pay too much. Luckily, he knows that the string sending
equipment software contains a bug: if Vasya sends two or more equal strings, it will
ask for money only for the first time when such a string was sent. This works even if
Vasya sends some other strings between the equal ones. Now, Vasya wants to send his
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string, and he wants to pay as little as possible. The coins are considered equal.
Write a program which will find the minimal number of coins required to send a
given string.
®opmaT BxoaHoro caina
The first line contains a non-empty string S (length of S is not greater than 40).

The second line contains one integer k (1 < k < 20). It is guaranteed that S contains
only lowercase Latin letters.

®opmaT BbiIxogHoro datina
Write only one integer — the minimal cost of sending S to Petr.

Mpumepbl
strdec.in strdec.out
cabbaabc 3
3
tatata 1
2

CrpaHnuya 2 n3 2



